
 

8 x l a factor of 5 3 9 2 2x a

CCx 5 9 2 t 2x a

f c 5 c 9 i 211 ta O

5 9 t Z ta to

a 2

10 x l att factors of fca p tqx 3 7

fci p l q 172 34 7 o

p q co O

f CD pl i 3tqCD2 3C i 7 o

p q 4 0

Zq 14 o

Z q 14
E 7

Sub for q in p t 7 to o p 3
p 3 q 7

14 fax 4
3
4

2 Ilse 6

fc 2 4C 2 3 4C 25 11C 2 6

32 t 16 t 22 6
o

t2 is a factor of floc by factor
theorem

Exercise 7C Factor Theorem



f 3 4 3 3 1435 11137 6
108 t 36 33 6 O

f C 3 4C 333 4C 3 2 11C 3 6

108 t 36 t 33 6 co

Abandon factor theorem
4 2 4K 3

2 4
3

t 4 2 floc 6

4 3 t 8 2

4 2 Hac
4 2 8 X

3 6
362

fee 2 4 2 ax 3

4 3 4 2 4 x 3
12

4 2 1 2x Gx 31 2 6

2 2 1 342 1

Zac 3 2x e l

f x oct 2 2x 3 Zacts

f x o x 2

x 3
Z

x I



9 x 3 factor of fca 6 3 5 2 18

fC 3 6C 35 BC 35 18 O

162 9b t 18 O
144 9b

5

1611sett x 2 factors of fCx c do 9 ici

f C i CC D't dC i 9C c lo O

C t d l O

f z 2
3
td z 9 z lo O

8C told 28 0

From d Ctl

Sub for d in 8 4 Cti 28 0

8C t 4C 4 28 0

12 24

d 2 1 3
2

d 3

13 f x 3 3 12 2 Gx 24
f a 31433 12h45 tGC4 24

192 192 1 24 24
0

By factor theorem x 4 is a factor of fax



3 2 6

x 4 3 3 12 2 2 Gx 24
3 3 12 2

Goc 24
6224

fee x 4 3 2 6

3 21 6 76 for all x
x 4 is only root of fca O

15 f x 9 4 18 3 x Zoe

f Cz 9 z 18613 I 2 z

144 144 4 1 4
0

x 2 is a factor of f Cx

9 3 x

x 2 9 4 18 3 of 2x

9 4 18
3

K2 2x
xZt

f Ca x 2 9 3

x x 2 9 2 i

fix x x 2 3x c 3x 1

Roots of floc o

x O K Z X ly X


